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Max. Marks : 75

SECTION A — (10 × 2 = 20 marks)

Answer any TEN questions
1. Explain the deduction u/s 80E?

2. Explain the method of Computing the Income of a firm?

3. Compute capital gain from the following: 

Written down value of office furniture as on 1.4.2014 ` 18,000 which was purchased on 15.9.98 for       `20,000 and sold on 1.9.2014 for ` 26,000. Bonds purchased on 1.11.2004 for ` 2,60,000 were sold on 1.1.2015 for ` 4,00,000.

CII for 2014 – 15 = 1024, 2004 – 05 = 463, 1998 – 99 = 305

4. Mr. Yuvaraj sold the following assets during the year ended 31.3.2015


                    Particulars                                                                                    Sale Proceeds  (`)

a) Shop purchased in 1985 – 86 (CII 133) for ` 18,000                                        70,000

b) Machinery purchased in 1983 – 84 (CII 125 for ` 50,000

i. (WDV on  1.4.14 ` 35,000)                                                             60,000

c) Furniture purchased on 1.5.14 ` 1,000                                                                1,300

d) Agricultural Land purchased in Coimbatore in1979 – 80 for ` 10,000

        (F. M. V on 1.4.81 (CII: 100) being 15,000)                                                     80,000

e) One residential house purchased in 1987 – 88 (CII: 150) Costing `  30,000    98,200

        Compute taxable Capital gain (CII for 2014 – 15: 1024)

5. Mr. Sreenivas submits the following particulars of his income for the previous year ended March 31, 2015.

Dividends from X Ltd., a foreign company (Gross)                              ` 40,000

Dividends from Y Ltd., an Indian company (Gross)                             ` 30,000

Dividends from Co-operative society                                                    `   3,000

Determine the chargeable income under the head ‘ other sources’.

6. Shri venumadhav gives the following particulars of his income for the previous year ended march 31, 2015.

   
Winning from Lottery on Jan 1, 2015: net amount : ` 49,000.

   
Winning from Card games: ` 16,000. Determine the income chargeable for the previous year 2014-15.

7. Compute the taxable income and loss to be c/f.                                           `
  (a) Business profit for the previous year 2014-15                        20,000

  (b) B/f. Business loss of 2012-13                                                 10,000

  (c) Capital loss on shares                                                              60,000

  (d) Loss from self occupied house (u/s 24)                                    5,000

8. Sanjoy submits the following information relevant for the assessment year 2015-16.

                                                            `
          Salary income (Gross)         63,000

          Business Income                  80,000

          House property Income       20,000

    Determine the net income of sanjoy.

9. The Gross total income of Mrs. Usha amounted ` 6,00,000 in the previous year ended on 31.3.15.

    She has made the following donations:

                                                                         `
 (a) To Gujarat earthquake relief fund          40,000

 (b) To approved educational institutions     15,000

     Compute the amount of deductions admissible u/s 80G for the assessment year 2015-16.


10. The gross total income of Mr. Babu is ` 7,50,000. He has made the following donations. Calculate 
his net income.

                                                                                     


         `
 (a) National foundation for communal harmony                 15,000

 (b) National Children’s Fund                                               30,000

 (c) National Defence Fund                                                   37,500

11. Compute the book profit of a firm (partners are chartered Accountants) (PFAS) from the details given 
below:

Profit earned by the firm in the 2014-2015 (After charging the following amounts) ` 5,00,000.

 (a) Interest on capital to partners @18%   ` 54,000.

 (b) Remuneration to working partners as per partnership deed ` 1,00,000.

 (c) Donation to an approved educational institution ` 10,000.

 (d) Business expenses ` 5,000.

 (e) Income tax ` 1,000.

12. A partnership firm has a book profit of ` 4,60,000. Remuneration allowable to working partners as per 
   partnership deed is ` 1,00,000. Compute the allowable remuneration under Income Tax Act.

SECTION B — (5 × 5 = 25 marks)

Answer any FIVE questions
13. Explain the provisions relating to set off of losses?

14. What are the permissible deduction from Gross Total Income?

15. What is an AOP? When is a partnership firm assessable as Aop?

16. Mr. Raja provides the following data regarding his transaction for the sale of his residential house for  the 
         AY 2015-16. Compute the amount of capital gain to be included in the total income for AY 2015-16.

                                                                                           

   `
     House purchased in 1982-83                                        4,36,000

     Sold in Nov 2014                                                        22,50,000 

     Purchased another house in September 2014               3,00,000

     Deposited in the capital gain a/c scheme in 

     Jan 2015                                                                        4,00,000

The cost of inflation index for  1982-83 and 2014-15 was 109 and 1024 respectively.

17. Mr. Murugan furnishes the following particulars of his income for the previous year 2014-15. Compute  

the income from other sources for the assessment year 2015-16.

   (a) Dividend (gross) from Ashok Leyland Ltd             ` 50,000

   (b) Interim Dividend from TVS Ltd.                            ` 10,000

   (c) Dividend from a co-operative society                     ` 10,000

   (d) Dividend from a foreign company (Net)                ` 52,000

   (e) Dividend from UTI                                                 `   6,000

18. Compute the gross total income of Mr. X from the following details:

 




                                         `
    (a) Speculation loss                                         60,000

    (b) Income from house property                       5,000

    (c) Non speculation business income          1,00,000

    (d) Winnings from cross word puzzles          50,000

19. Following details are available in respect of income of Mr. Y for the year 2014-15.


                                                                                             

      `
  

   (a) Long term capital gain                                               2,10,000

   (b) Consolidation salary                                                  1,00,000

   (c) Rent received from a let out property                        1,00,000

   (d) Dividend from an Indian company                               50,000

    Compute the total income.

SECTION – C     (2 × 15 = 30 Marks)
Answer any TWO questions

20. Explain any ten due deductions from gross total income for expenses made?

21. Agricultural land situated in Agra purchased in 1989-1990 for ` 46,400, sold for ` 3,80,000 on 
1.5.2014. The assessee purchased another piece of agricultural land on 1.8.2014 for ` 70,000 and deposited ` 30,000 on 24.6.15 in capital gain amount scheme 1988.

Find out the capital gain chargeable to tax for the AY 2015-16. The cost inflation index in 1989-1990 was 172 and in 2014-15 it was 1024.

22. Compute Income from other sources of Mugundan for the previous year 2014-15.

  (a) Dividend on equity shares. ` 600.

  (b) Dividend on preference share ` 3,200.

  (c) Income from letting of building and machinery ` 17,000.

  (d) Interest on bank deposit ` 2,500.

  (e) Director’s fees ` 1,200.

  (f) Ground rent ` 600.

  (g) Undisclosed income ` 10,000.

  (h) Lottery income (Gross) ` 10,000.

He claims the following deductions.

Depreciation on building ` 4,000 and insurance on machinery ` 100.

23. X and Co., a partnership firm assessed as such furnished the following profit and loss account for the AY  

 
ending 31st March 2015.

                                                         

   `                                                                   `
 To cost of Goods                         2,80,000             By Sales                      2,92,000

 To Other expenses                          91,000             By Net Loss                1,72,000

To Interest to partners                     25,000              

To Remuneration to partners          68,000

                                                    
        4,64,000                                                   4,64,000


The other expenses debited include ` 13,600 not allowable u/s. 37(i) of the Act.  Interest to partners is in excess by ` 7,100.

You are required to compute for the AY 2015-16

  (a) Book profits of the firm

  (b) Permissible remuneration to partners Under section 40(b)

  (c) The income of the firm

  (d) Remuneration and interest is paid as per the deed.

**********
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